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Усилительный каскад и 
его характеристики



Задача 1

РЕШЕНИЕ:

К = 1 В / 0.1 В

К = 10

КдБ = 20 · lg (K) = 20 · lg (10) 

КдБ = 20 · 1 = 20 (дБ).

ОТВЕТ:    К = 10,   КдБ = 20 дБ.

ДАНО: 
U1=0.1 В;   U2=1 В.

НАЙТИ: 
К =?  К дБ =?



Задача 2

РЕШЕНИЕ:

Закон Ома: I2 = U2 / R2H, I1 = U1 / RВХ. 

КI = (U2 · RВХ)/ (R2H · U1),

КI = (KU · RВХ)/ R2H = (10 · 1000)/ 100.

КI = 100.

КI, дБ = 20 · lg (KI) = 20 · lg (100) 

КдБ = 20 · 2 = 40 (дБ).

ОТВЕТ:    К = 100,   КдБ = 40 дБ.

ДАНО: 
U1=0.1 В;   U2=1 В;

Rвх=1 кОм   R2н=100 Ом.
НАЙТИ: 

КI =?  К I дБ =?



Задача 3

РЕШЕНИЕ:

Закон Джоуля–Ленца: P = I · U = U2 / R. 

КP = (U2
2 · RВХ)/ (R2H · U1

2),

КP = KU
2 · (RВХ/ R2H ) = 102 · (1000/ 100).

КP = 1000.

К P, дБ = 10 · lg (KP) = 10 · lg (1000) 

КдБ = 10 · 3 = 30 (дБ).

ОТВЕТ:    К = 1000,   КдБ = 30 дБ.

ДАНО: 
U1=0.1 В;   U2=1 В;

Rвх=1 кОм   R2н=100 Ом.
НАЙТИ: 

КP =?  К P дБ =?



Многокаскадный усилитель и 
его свойства



Задача 4

РЕШЕНИЕ:

К1 = U21 / U1 , К2 = U21 / U1 .

К = (U21 · К1 · К2) / U21.

К = К1 · К2 = 10 · 8 = 80.

КдБ = 20 · lg (K) = 20 · lg (80) 

КдБ = 20 · 1.9 ≈ 38 (дБ).

ОТВЕТ:    К = 80,   КдБ = 38 дБ.

ДАНО: 
        К1=10,   К2=8.

НАЙТИ: 
        К =?  К дБ =?



Задача 5

РЕШЕНИЕ:

К [дБ] = 20·lg(К), т.е. К = 10(К [дБ] / 20)

К = К1 · К2 = 10(6 дБ / 20) · 10,

К = 1.995 · 10 ≈ 20.

КдБ = 20 · lg (K) = 20 · lg (20), 

КдБ = 20 · 1.3 ≈ 26 (дБ).

ОТВЕТ:    К = 20,   КдБ = 26 дБ.

ДАНО: 
         К1=6дБ, К2=10.

НАЙТИ: 
        К =?  К дБ =?



Задача 6

РЕШЕНИЕ:

К [дБ] = 20·lg(К), т.е. К = 10(К [дБ] / 20)

К [дБ] = 20·lg(К1) · 20·lg(К2)= К1 [дБ] + К2[дБ],

КдБ = 20 + 10 ≈ 30 [дБ].

К = 10(К [дБ] / 20) = 10(30 [дБ] / 20), 

К = 10(30 [дБ] / 20) = 10 1.5≈ 31.6.

ОТВЕТ:    К = 31.6,   КдБ = 30 дБ.

ДАНО: 
            К1=20дБ   К2=10 дБ.
НАЙТИ: 

        К =?  К дБ =?



Задача 7

РЕШЕНИЕ:

U2 = К2 · U21 = К2 · U1 · К1.

К1 = 10(К1 [дБ] / 20) .

К СКВ = К2 · U1 · К1 / ℮1.

 К СКВ = (10 · 4 мВ · 10(20 [дБ] / 20)) / 8 мВ, 

 К СКВ = 50, т.е. К СКВ [дБ] = 20·lg(К СКВ) = 20·lg(50). 

ОТВЕТ:  К СКВ = 33.98 дБ ≈ 34 дБ.

ДАНО: 
 e1  = 8мВ    U1  = 4мВ    

К1 = 20дБ   К2 = 10
НАЙТИ: 

 Kскв дБ =?



Задача 8

РЕШЕНИЕ:

U1 = U2 / (К1 · К2 · К3).

К1 · К2 · К3 = 10((К1 [дБ] + К2 [дБ]  + К3 [дБ])/ 20) .

К = 10((40 [дБ] + 12 [дБ]  + 8 [дБ])/ 20) .

 К = 103, 

 U1 = 10 В / (103) = 10 В · 10–3.

ОТВЕТ: U1 = 10–2 В =0.1 В = 10 мВ.

ДАНО: 
 К1=40дБ   К2=12 дБ   К3= 

8 дБ    U2=10В
 НАЙТИ: 

 U1 =?



Задача 9

РЕШЕНИЕ:

k1, дБ = 20·lg(k1), т.е. 

k1, дБ = 20·lg(U1 / ℮1).

k1, дБ = 20 · lg(4 мВ / 8 мВ),

k1, дБ = 20 · lg(0.5), 

k1, дБ = 20·(–0.301).

ОТВЕТ:      k1, дБ = – 6 дБ.

ДАНО: 
 e1 =8мВ    U1 =4мВ.

НАЙТИ: 
 k1 дБ =?



Задача 10

РЕШЕНИЕ:

К СКВ, дБ = 20·lg(К СКВ), т.е. 

К СКВ, дБ = k1 [дБ] + K1 [дБ] + K2 [дБ] 

К СКВ, дБ = k1 [дБ] + 20·lg(K1) + K2 [дБ].

К СКВ, дБ = – 4 [дБ] + 20·lg(100) + 24 [дБ].

К СКВ, дБ = – 4 [дБ] + (20·2) [дБ] + 24 [дБ].
ОТВЕТ:    К СКВ, дБ = 60 дБ.

ДАНО: 
 k1= -4дБ   К1=100   К2=24 дБ.
НАЙТИ: 

 К СКВ, дБ =?



Задача 11

РЕШЕНИЕ:

U2= U1  · К1 · К2 .

К1 · К2 = 10((К1 [дБ] + К2 [дБ])/ 20) .

К = 10((20 [дБ] + 12 [дБ])/ 20) .

 К = 39.8, 

 U2 = 10 мВ · 39.8.

ОТВЕТ: U2 = 0.398 В ≈ 0.4 В.

ДАНО: 

 U1 =10 мВ  
К1=20 дБ К2=12  дБ.

НАЙТИ:  U2 =?



Задача 12

РЕШЕНИЕ:

U2= U21  · К2 .

К2 = 10(К2 [дБ]/ 20) .

К2 = 10(20 [дБ] / 20) .

U2 = U21  · 10
(К2 [дБ]/ 20) .

 U2 = 10 мВ · 10
(20 [дБ]/ 20) .

ОТВЕТ: U2 = 100 мВ = 0.1 В.

ДАНО: 

 U1 =4мВ   U21 =10мВ   
К2=20 дБ.

НАЙТИ:  U2 =?



Задача 13

РЕШЕНИЕ:

К 1СКВ, дБ = 20·lg(K1СКВ), U21 = U1· К1 .

Тогда  К 1СКВ = U1· К1 /℮1.

К 1СКВ, дБ = К1, дБ + 20·lg(U1· /℮1), 

К 1СКВ, дБ = 26 дБ + 20·lg( 5 мВ / 10 мВ) = 26 дБ + 20·lg(0.5) .

К 1СКВ, дБ = 26 дБ + 20·(-0.3)

ОТВЕТ: К 1СКВ, дБ = 19.98 дБ ≈ 20 дБ.

ДАНО: 

e1 =10мВ    U1 =5мВ   
K1 =26дБ.

НАЙТИ:  K1скв дБ =?



Задача 14

РЕШЕНИЕ:

К СКВ, дБ = k1 [дБ] + K1 [дБ] + K2 [дБ] 

К СКВ, дБ = 20·lg(k1) + K1 [дБ] + 20·lg(K2).

К СКВ, дБ = 20·lg(U1 / ℮1)+ K1 [дБ] + 20·lg(K2).

К СКВ, дБ = 20·lg(4 мВ / 8 мВ)+ 20 [дБ] + 20·lg(10).

К СКВ, дБ = 20·(-0.3) + 20 + 20·1.

ОТВЕТ: К СКВ, дБ = 34 дБ.

ДАНО: 

e1 =8мВ    U1 =4мВ    
К1=20дБ   К2=10.

НАЙТИ:  Kскв дБ =?




